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Chapter 3 

The specific-factors model 

» We have seen that after opening up to trade, 
some sectors will decline while others will 
expand. 

» Trade is often viewed as undesirable because of 
large weight attached to the declining sector: 
˃ The losers are well identified and organised. 

˃ The gainers do not yet really exist. 

» This is a political-economic issue. 

» A solution would be to compensate the losers 
and let trade happen because of its potentially 
large benefits. 
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» The USA has created the Trade Adjustment 
Assistance (TAA) program. 

» Aims to help those who lose from trade. 

» Has recently been extended to include service 
workers. 

» Do we have the same in Canada? 
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» Coffee prices are highly volatile 

» Unfortunately, we don’t have a good model to 
look at the problem of export price volatility. 


